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Vocabulaire

A. Reliez les phrases en utilisant “sans” selon le
modele.
Exemple: 1l est venu. 1l n’a pas d’argent.

%
1- Ma grand-meére peut lire des journaux. Elle n’a pas

11 est venu sans argent.

de lunettes.
2- Elle écoute. Elle ne dit rien.
3- C’est la nuit. il n’y a pas d’ étoiles.

B. Soulignez les intrus :

Exemple: ventre genou  bras vent pied
1. infirmier dentiste pharmacien
docteur médicament
2. séjourner  se baisser se laver  se reposer
se relever
3.bon  mauvais fatigue  fort faible
4. Singapour Birmanie Cambodge
Brunei Canada
5. France Phnom Penh Laos
Vietnam Chine

. Grammaire.

A. Répondez aux questions en utilisant “Si”, “Oui” ou

“Non”.

1. Tu ne manges pas de pain ?

...................... , je mange du riz.

2. Vous ne buvez pas d’eau le matin?

............... ,un verre d’eau avant le petit déjeuner.
3. Vous apprenez le frangais?

............... , deux heures par semaine.

B. Transformez les phrases selon le modéle.
Exemple: Montrez votre photo a Dara.
- Montrez-la-lui

1- Donnez ces médicaments a ta soeur.

2- Rendez la monnaie a Neary.

3- Montrez le chemin a cet enfant.

4- Envoyez des lettres a vos parents.

5- Laissez vos sacs dans la voiture.

21
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Expression écrite.
Décrivez une ville touristique du Cambodge ou

d’autres pays que vous aimez bien. Ecrivez un texte de
100 a 120 mots.

AIRMIBIGING

Vocabulaire

A. Reliez les phrases en utilisant “sans”.

1-Ma grand-mere peut lire des journaux sans lunettes.
2- Elle écoute sans rien dire

3- C’est la nuit sans étoiles.

B. Soulignez les intrus.
2- séjourner
5- Phnom Penh

1- médicament
4- Canada

3- fatigue

. Grammaire

A.Répondez aux questions en utilisant “Si”, “Oui”,

“NOn".

1- Non 2-Si 3- Oui

B. Transformez les phrases selon le modéele.
1- Donnez-les-lui. 2- Rendez-la-lui.
3- Montrez-le-lui. 4- Envoyez-leur-en.

5- Laissez-les dans la voiture. - Laissez-les y.

Expression écrite
Respect de la consigne
Vocabulaire et orthographe
Grammaire

Richesse des idées
Cohérence
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I. Reading.

Read the test and fill the gaps with the words in the box.
Gap one has been done as an example.

candidate eligible election
campaign opinion pool violent
ballot box polling day support
polling station winner (1) predict
result

elections

People sometimes try to (1) ....... predict ....... the result of
an election weeks before it takes place. Several hundred
people are asked which party they prefer, and their
answers are used to guess the (2) .......... of the coming
election. this is called an (3) ......... Meanwhile each party
conducts its (4) with meetings, speeches,
television commercials and party members going form
door to door encouraging people to (5) ......... Their party.
In Cambodia everyone over 18 is (6) ......... to vote. The
place where people go to vote in an election is called a (7)
and the day of the election is often known as (8)
......... The voters put their votes in a (9) And later
they are counted. The (10) with the most vote is
then declared the (11)

Il. Grammar.

There are four answers after each statement. Only one
answer is correct. Choose the correct letter a, b, ¢, or d.
The first one was done as an example for you.

Example : Yesterday she to Siem Reap.

a. Go b. is going
c. goes d. went
1. Although Ms. Thida .................... Reservation, the hotel
did not have a room for her.
a. Make b. have made
c. had made d.. makes
1) ET——— on the bus when I dropped my wallet.
a. Am getting b. have gotten
c. get d. was getting
3. Several trees fell down last night .......... the strong wind.
a. Because of b. since
c. because d. so
4. We........... at that restaurant during the last few months.
a. Don’t eat b. won’t eat
c. haven’t eaten d. didn’t eat

gilgnanA e hATgNan|A
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5. Mr. Dara ...........
carefully.

a. Would have

c. would have had

so many accidents if he drove more
b. won’t have
d. wouldn’t have

lll. Vocabulary.

There are four answers after each statement. Only one
answer is correct. Choose the correct letter a, b, ¢ or d. The
first one was done as example for you.

Example : When I was twelve, my father taught me how to

.... play ... chess.

a. Do b. play

c. make d. collect
1. Pmreally .....ccccueee. of my son who first prize is the art
competition.

a. Pleased b. proud

c. delighted d. happy
2. Weall need to .................... responsibility for improving
our local community.

a. Have b. make

c. take d. give
3. It’s important to set yourself clear ............. so you know
what you are aiming for.

a. Ambition b. opportunities

c. decisions d. golds
4. According to the weather ................... , there will be rain
tomorrow.

a. programme b. information

C. survey d. forecast
5. Many people believe that violent computer games can
have a harmful ..................... on children.

a. effect b. affect

c. damages d. involvement
IV. Writing.

Write an essay “Advantages and disadvantages of TV at
least 180 words.
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I. Reading.
(1) predict (2) result (3) opinion poll
(4) election campaign (5) support  (6) eligible
(7) polling station (8) polling day (9) ballot box
(10) candidate (11) winner
Il. Grammar.

l-¢c 2-d 3-a 4-c 5-d
lll. Vocabulary.

1-b 2-c¢ 3-d 4-d 5-b
IV. Writing.

1. Content

2. Spelling

3. Grammar
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